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SUBJECT CODE NO:- B-2030
FACULTY OF SCIENCE AND TECHNOLOGY
B.Sc. S.Y. (Sem-111) Examination Oct/Nov 2019
Mathematics MAT - 302
Integral Transforms

Please check whether you have got the right question paper.
i) All questions are compulsory.
i) Figures to the right indicate full marks.

Attempt any one:
()T (m) ARSI
a) Provethat, B(I,m) = - , Where ml are positive integer.
b) Prove that, 2" (n + %) = 1.3.5 ... ces sio v (21 = 1).4/7, where n is positive integer.

Attempt any one:
m—l(l_x)n—l

¢) Evaluate [ o X

d) Find L{e *(3sinh2t — 5cosh2t)}

Attempt any one:
a) Derive relationship between Fourier transform and Laplace transform.

b) Prove that, L~! { !

m} = %{sinat — atcosat}
Attempt any one:
c) Solve by using Laplace transform
(D% + 25)y = 6 cos(3t),withy(0) = 2,y'(0) =0
¢ < _1 8
d) Find L~ fran-' 2}
Attempt any one:
a) If L{F(t)} = f(s), then prove that
dn
L) = (~r L
dsm

by fF{F(x)}=f (s), then prove that
F{F(x —a)} = e Yf(5s).

Attempt any one:
¢) Find the Fourier transform of f(x) =

d) Find L-l{

1
e

For each of the following questions four alternatives are given for the answer. Only one of
them is correct. Choose the correct alternative.
1) Thevalue of T'(1) I'(2) I'(3) ....T(9)is.......

a) 2_7t
V10
1
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(2m)°®

b)m

(2m)2
C) T

9
2
d) NS
The value of T'(3)is ..............
a) 0
b) «
c) Vm
d) m?

The value of L{cosh(at)}is..................
a

a) S2_q2

S
S2_q2

b)

S
C) S2+q?

d)L

S2+a?

4) Thevalue of F{e®™}is ..............
S

a)

S2+a?

b)L

S§2+q?2

S
C) S2_q2

d) None of these

5) The value of L{t3}is .........
6

a) —
b) =
c) S*
d) =

2
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